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B_5 21.nb

Remove["Global *"] ;
<< ControlSystems’
In[l127]:=
1
input[t_] := — t?
10s+10

ss+4s=+105+10]'
SimulationPlot[sys, input[t], {t, 10}, PlotLabel -> "Response to 1/2 t*2",
AxesLabel -» {"time (sec)", "amplitude"}, GridLines - Automatic];

sys = Transferli‘unction[s '

amplitude
56

36

Response to 1/2 t"2

— time (sec)
10

Printed by Mathematica for Students
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B_5_31.nb

Inf20]:= Remove["Global *"];
<< ControlSystems”
<< Graphics’

input[t_] := t (*ramp inputx)
k

5 ]
sys = TransferFunction[s, T] E
s2 + = s+ =

j=10;
&= .2;

Table[i, {i, 1, 100}];
process|[] :=Modu1e[[],

a

i=0;
For[b=2,b<30, b=b+5,

{

For[k:O.l, k<1.8, k=k+.2,

{

i=i+1;
x
i 3
sys = TransferFunct:.on[s, = = ]:‘
s2 + ? s + ?

y = Re[Chop [N[OutputResponse[sys, input[t], t]]]];
p =Plot[{input[t], vy}, {t, 0, 20},
PlotLabel -> "K=" <> ToString[k] <> " B=" <> ToString[b],
DisplayFunction - Identity];
a[[il] =p;

process|[];
Show[GraphicsArray[Partition[Take[a, {1,|i}¥, 3]], DisplayFunction - $DisplayFunction];
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